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. Q Multiplique decimais por poténcias negativas de dez

Nome: Encontro: Data: Pontuagdo:
2519,7 % 0.0001 = 4993,3 x0.01 =
3161,4 x 0.001 = 5217,6 x 0.001 =
3670,5 % 0.0001 = 4343,6 x 0.1 =
9647, 7 x 0.0001 = 4984, 1 x 0.001 =
7596,2 % 0.001 = 8256, 5 x 0.001 =
3994,5 % 0.0001 = 4879 x 0.1 =
2294,5 % 0.01 = 6714,5x0.1 =
2141,7 % 0.001 = 7284,3 x 0.01 =
9820, 6 x 0.001 = 9401,5 x 0.01 =
5258,3 x 0.0001 = 3212,1x0.01 =
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‘ Q Multiplique decimais por poténcias negativas de dez
Nome: Encontro: Data: Pontuagdo:
2519,7 x 0.0001 = 0.25197 4993, 3 x 0.01 =49.933

3161,4 x0.001 = 3.1614 5217,6 x0.001 = 5.2176

3670,5 % 0.0001 = 0.36705 4343, 6 x 0.1 =434.36

9647,7 x 0.0001 = 0.96477 4984, 1 x 0.001 =4.9841

7596,2 x 0.001 = 7.5962 8256,5 % 0.001 = 8.2565

3994, 5 x 0.0001 = 0.39945 4879 x 0.1 =487.9

2294,5 % 0.01 = 22.945 6714,5x 0.1 =671.45

2141,7 x0.001 =2.1417 7284,3 x0.01 = 72.843

9820, 6 x 0.001 = 9.8206 9401,5 % 0.01 =94.015

5258, 3 x 0.0001 = 0.52583 3212,1x0.01 =32.121
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